INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Importation of Hass Avocados from Mexico

0579-0129

DATE PREPARED

August 11, 2017

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT ANNUAL BURDEN REPORTS RECORDS FORMS NO (S) NO. OF NO OF TOTAL ANNUAL HOURS TOTAL NO. OF ANNUAL RECORD-SECTION OF DESCRIPTION (If "none" RESPONDENTS RESPONSES RESPONSES PER HOURS RECORD-HOURS PER KEEPING HOURS REGS. so state) PER (Col. D x E) RESPONSE (Col. F x G) KEEPERS RECORD-(Col. I x J) RESPONDENT KEEPER (C) (A) (B) (D) (E) (F) (G) (H) (I) (K) Trust Fund - (foreign government) 1.00 80.00 80 319.56-30(b) None 1.0 Application for Permit to Import Plant or Plant PPQ 587 319.56-3 83 1.00 83.0 0.50 42 Products - (business) None 319.56-30 (c) Workplan - (foreign government) (same) 80 1.00 1.0 80.00 319.56-30 (c) Marking of field boxes with orchard registration None 678 2034.00 1.379.052.0 0.00 2069 number - (business) (2)(iv)319.56-Field Record to accompany fruit from orchard to 0.0 2,034 0.008 17 packing house - (business) (same) 30(c)(v)Fruit stickered w/Sanidad Vegetal registration 319.56number sticker for packing house - (business) None 3816703.00 0.00 103051 68,700,654.0 30(c)(3)(vi)(same) SUBTOTAL 70.079.791.0 2.034.00 105.322 17 TOTAL OF ALL PAGES 4.068.00 1.768 447.071 48 72,107,729,0 TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b: 72,111,797.0 447,119 **COLUMNS "H" AND "K" = OMB 831, 13c** 

Page 2 of 5

August 11, 2017

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

Importation of Hass Avocados from Mexico

OMB NO.

O579-0129

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN									
				REPORTS					RECORDS			
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)		
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(I)	KEEPER (J)	(K)		
319.56- 30(c)(v)	Box marking w/grower, packing house, etc. (business) (same)	None	1,000	2000.00	2,000,000.0	0.00	3,000			0		
319.56- 30(c)(3)(d)	Phytosanitary Certificate (foreign government) (same)	None	1	3735.00	3,735.0	0.50	1868			0		
319.56- 30(c)(3)(d)	Phytosanitary Certificate (business) (same)	None	83	45.00	3,735.0	0.50	1868			0		
319.56-30(c)	Training Program for Personnel in Surveying (foreign government) (same)	None	1	2034.00	2,034.0	80.00	162,720			0		
319.56-30(c)	Training Program for Personnel in Surveying (business) (same)	None	678	3.00	2,034.0	80.00	162,720			0		
319.56-30(c ))1)(i)	Approved Municipality List (foreign government) (same)	None	1	1.00	1.0	0.15	1			0		
	SUBTOTAL				2,011,539.0		332,177	0		0		

SUMMARY OF INFORMATION COLLECTION USDA-APHIS

INSTRECTIONS: 1996-Mill Yorlmewhelearningth interchelearning the interch recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b;  $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Total = (J) Average \qquad (J) Total/(J) Total/(J)$ NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

Importation of Hass Avocados from Mexico

OMB NO. Page 3 of 5 0579-0129

DATE PREPARED

August 11, 2017

	IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN						x 11, 2017	
					REPORTS					RECORDS		
RE	TION OF EGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(	(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	
319.56 )(1)(i)	5-30(c	Municipality Survey (foreign government) (same)	None	1	100.00	100.0	2.00	200			0	
319.56 )(2)	5-30(c	Orchard and Grower Registration (foreign government) (same)	None	1	2034.00	2,034.0	0.50	1,017			0	
319.56 )(2)	5-30(c	Orchard and Grower Registration (business) (same)	None	678	3.00	2,034.0	0.50	1,017			0	
319.56 )(2)(1)		Orchard Survey (foreign government) (same)	None	1	2034.00	2,034.0	1.00	2,034			0	
319.56 )(2)(1)		Orchard Survey (business) (same)	None	678	3.00	2,034.0	1.00	2,034			0	
319.56 )(3)	5-30(c	Packinghouse Registration (business)	None	1,000	1.00	1,000.0	0.50	500			0	
		SUBTOTAL				9,236.0		6,802	0		0	

INSTRECTIONS: 1996-Mill Yorlmewhelearningth interchelearning the interch recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b;  $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Total = (J) Average \qquad (J) Total/(J) Total/(J)$ NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

Importation of Hass Avocados from Mexico

OMB NO. Page 4 of 5 0579-0129

DATE PREPARED

August 21, 2017

	IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN						X 21, 2017	
					REPORTS					RECORDS		
SECTI REG	GS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(A	A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	
319.56- )(3)	-30(c	Packinghouse Registration (foreign government) (same)	None	1	1000.00	1,000.0	0.50	500			0	
319.56- )(3)(iv)		Post-harvest Inspection (business) (same)	None	1,000	1.00	1,000.0	1.00	1000			0	
319.56- )(3)(iv)		Post-harvest Inspection (foreign government) (same)	None	1	1000.00	1,000.0	1.00	1000			0	
319.56- )(3)(viii		Container Seal (foreign government) (same)	None	1	3735.00	3,735.0	0.00	6			0	
319.56-	-30 (e )	Pest Detection Investigation (business) (same)	None	50	1.00	50.0	1.00	50			0	
319.56-	-30 (e )	Pest Detection Investigation(foreign government) (same)	None	1	50.00	50.0	1.00	50			0	
		SUBTOTAL				6,835.0		2606	0		0	

INSTRECTIONS: 1996-Mill Yorlmewhelearningth interchelearning the interch recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b;  $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Total = (J) Average \qquad (J) Total/(J) Total/(J)$ NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

Importation of Hass Avocados from Mexico

OMB NO. Page 5 of 5 0579-0129

DATE PREPARED

August 11, 2017

IDENTIE	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ΔΝΝΙΙΛ	L BURDEN		11080	st 11, 2017	
BENTIFIC				REPORTS					RECORDS		
										TOTAL	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-	
SECTION OF REGS.	DESCRIPTION	(If "none" so state)	RESPONDENTS	RESPONSES PER	RESPONSES (Col. D x E)	PER RESPONSE	HOURS (Col. F x G)	RECORD- KEEPERS	HOURS PER RECORD-	(Col. I x J)	
(4)	(0)	(C)	(D)	RESPONDENT	(5)	(0)	40	<i>(</i> )	KEEPER	40	
(A)	(B)	(0)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
319.56-30 (f)	Port of Entry Inspections (business) (same)	None	83	2.00	166.0	0.50	83			0	
319.56-30 (f)	Port of Entry Inspections (State)	None	6	27.00	162.0	0.50	81			0	
319.56-30	Recordkeeping (business)	None			0.0		0	2,034	0.015	31	
					0.0		0			0	
					0.0		0				
					0.0		0			0	
	SUBTOTAL				328.0		164	2,034		31	